Spiel 1 Spiel 2 Gesamt ' ” v

Spiel 067 18:58 [H 04 FREINSCHLAG Marianne 44 + 40 = 84| 1 | 1
TEMPER Anton 48 + 55 = 103| 3
922 + 95 = 187
H 07 STELLNBERGER Inge 42 + 44 = 86
STELLNBERGER Franz 4 + 35 = 79
86 + 79 = 165
Spiel 068 19:12 [H 05 KATZENGRUBER Viktoria 2 + 35 = 57
KATZENGRUBER Fritz 42 + 40 = 82| 2
64 + 75 = 139
H 03 RATHGEB lda 35 + 45 = 80
RAFFETSEDER Hermann 3 + 28 = 64
71+ 73 = 144
Spiel 069 19:26 |H 06 FISCHER Irmgard 39 + 45 = 84| 1
FISCHER Leo 51 + 38 = 89 1 | 1
90 + 83 = 173
H 02 MARSCHALLINGER Ursula 42 + 44 = 86
JURKOWITSCH Marcel 42 + 50 = 92| 1 | 2
84 + 94 = 178
Spiel 070 19:40 (H 01 JURKOWITSCH Gertraud 43 + 52 = 95
JURKOWITSCH Thomas 47 + 43 = 90 3 | 1
90 + 95 = 185
H 07 STELLNBERGER Inge 35 + 40 = 75| 2
STELLNBERGER Franz 38 + 35 = 73
73 + 75 = 148
Spiel 071 19:52 [H 04 FREINSCHLAG Marianne 42 + 44 = 86| 1
TEMPER Anton 47 + 51 = 98
89 + 95 = 184
H 05 KATZENGRUBER Viktoria 3 + 35 = 71
KATZENGRUBER Fritz 44 + 39 = 83 2
80 + 74 = 154
Spiel 072 20:06 |H 03 RATHGEB Ida 48 + 52 = 100| 2
RAFFETSEDER Hermann 34 + 34 = 68
82 + 86 = 168
H 06 FISCHER Irmgard 46 + 40 = 86 1
FISCHER Leo 40 + 41 = 81
86 + 81 = 167




Spiel 1 Spiel 2 Gesamt ' ” v

Spiel 073 20:20 (H 01 JURKOWITSCH Gertraud 48 + 44 = 92 1
JURKOWITSCH Thomas 47 + 42 = 89 1
95 + 86 = 181
H 02 MARSCHALLINGER Ursula 38 + 44 = 82
JURKOWITSCH Marcel 53 + 44 = 97| 2 | 1
91 + 88 = 179
Spiel 074 20:37 |H 07 STELLNBERGER Inge 38 + 28 = 66
STELLNBERGER Franz 37 + 41 = 78| 1
75 + 69 = 144
H 05 KATZENGRUBER Viktoria 34 + 38 = 72
KATZENGRUBER Fritz 42 + 41 = 83 2
76 + 79 = 155
Spiel 075 20:50 |H 06 FISCHER Irmgard 51 + 40 = 91 2
FISCHER Leo 4 + 45 = 89 1
95 + 85 = 180
H 04 FREINSCHLAG Marianne 34 + 33 = 67
TEMPER Anton 49 + 42 = 91| 1 | 1
83 + 75 = 158
Spiel 076 21:05 [H 03 RATHGEB Ida 35 + 37 = 72 1
RAFFETSEDER Hermann 38 + 35 = 68
68 + 72 = 140
H 01 JURKOWITSCH Gertraud 37 + 38 = 75
JURKOWITSCH Thomas 3 + 46 = 82| 1
73 + 84 = 157
Spiel 077 21:18 [H 02 MARSCHALLINGER Ursula 28 + 36 = 64
JURKOWITSCH Marcel 54 + 38 = 92| 2
82 + 74 = 156
H 07 STELLNBERGER Inge 29 + 39 = 68
STELLNBERGER Franz 46 + 44 = 90| 1
75 + 83 = 158
Spiel 078 21:31 [H 05 KATZENGRUBER Viktoria 31 + 28 = 59| 1 | 1
KATZENGRUBER Fritz 40 + 48 = 88| 2
71 + 76 = 147
H 06 FISCHER Irmgard 37 + 44 = 81
FISCHER Leo 48 + 44 = 92| 1 | 1
8 + 88 = 173




Spiel 1 Spiel 2 Gesamt ' ” v

Spiel 079 21:44 (H 01 JURKOWITSCH Gertraud 37 + 46 = 83
JURKOWITSCH Thomas 39 + 41 = 80 1
76 + 87 = 163
H 04 FREINSCHLAG Marianne 39 + 38 = 77| 1
TEMPER Anton 46 + 47 = 93| 1 | 3
85 + 85 = 170
Spiel 080 21:57 [H 02 MARSCHALLINGER Ursula 38 + 33 = 71
JURKOWITSCH Marcel 3 + 29 = 65
74 + 62 = 136
H 03 RATHGEB lda 46 + 47 = 93| 1 | 2
RAFFETSEDER Hermann 35 + 35 = 70
81 + 82 = 163
Spiel 081 22:11 |H 07 STELLNBERGER Inge 44 + 40 = 84
STELLNBERGER Franz 32 + 43 = 75| 2
76 + 83 = 159
H 06 FISCHER Irmgard 47 + 39 = 86
FISCHER Leo 40 + 37 = 77| 1
87 + 76 = 163
Spiel 082 22:25 [H 05 KATZENGRUBER Viktoria 46 + 35 = 81 2
KATZENGRUBER Fritz 41 + 52 = 93| 2
87 + 87 = 174
H 01 JURKOWITSCH Gertraud 4 + 39 = 83 1
JURKOWITSCH Thomas 39 + 26 = 65( 1
83 + 65 = 148
Spiel 083 22:38 [H 04 FREINSCHLAG Marianne 37 + 37 = 74
TEMPER Anton 40 + 43 = 83| 1
77 + 80 = 157
H 02 MARSCHALLINGER Ursula 40 + 38 = 78
JURKOWITSCH Marcel 38 + 42 = 80 1
78 + 80 = 158
Spiel 084 22:52 |H 03 RATHGEB Ida 42 + 38 = 80
RAFFETSEDER Hermann 38 + 36 = 74
80 + 74 = 154
H 07 STELLNBERGER Inge 42 + 36 = 78 1
STELLNBERGER Franz 48 + 38 = 86| 1
90 + 74 = 164




Spiel 1 Spiel 2 Gesamt " ” v

Spiel 085 23:05 [H 01 JURKOWITSCH Gertraud 40 + 39 = 79| 1
JURKOWITSCH Thomas 3 + 39 = 750 1 | 1
76 + 78 = 154
H 06 FISCHER Irmgard 36 + 31 = 67| 1
FISCHER Leo 25 + 48 = 73| 1
61 + 79 = 140
Spiel 086 23:20 ([H 02 MARSCHALLINGER Ursula 33 + 32 = 65
JURKOWITSCH Marcel 40 + 42 = 82 1 | 1
73+ 74 = 147
H 05 KATZENGRUBER Viktoria 30 + 28 = 58
KATZENGRUBER Fritz 39 + 42 = 81| 1
69 + 70 = 139
Spiel 087 23:33 |H 03 RATHGEB Ida 45 + 41 = 86| 1
RAFFETSEDER Hermann 39 + 35 = 74 1
84 + 76 = 160
H 04 FREINSCHLAG Marianne 32 + 36 = 68
TEMPER Anton 49 + 40 = 89| 1
81 + 76 = 157




